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RGN | (cms) |FF R (MIN)| T ems cms cms cms
0~3 32 T1(15.49)| 32.45 33 0 0
3~5 94 T2(15.49)] 93.61 94
5~7 173 | T3(15.49)] 87.64 | 99 8585 | 74
7~9 301 | T4(15.49)] 68.00 | 106 | 232.81 | 195
9~10.5 477 T5(11.62)| 72.91 115 403.89 362
10.5~11.5 652 T6(7.75) | 128.87 118 522.68 534
11.5~12.5 860 T7(7.75) | 170.00 210 690.00 650
12.5~13.5 709 T8(7.75) | 140.22 126 568.74 583
13.5~14.5 578 T9(7.75) | 114.05 112 463.86 466
145-16 428 |T10(11.62) 6547 | 109 | 362.66 | 319
16~18 266 |T11(15.49) 60.10 88 205.76 178
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0~3 32 T1(15.49) 0 0 0 0
3~5 94 T2(15.49) 0 0 0 0
5~7 173 T3(1549) | 3,017 | 1,873 | 2,889 | 2,593
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9~10.5 477 T5(11.62) | 2,923 | 2,172 | 2,98 | 2,695
10.5~11.5 652 T6(7.75) | 2,828 | 3,602 | 4,526 | 3,652
11.5~125 860 T7(7.75) | 4,215 | 3,564 | 3,817 | 3,865
12.5~135 709 T8(7.75) | 3,773 | 4,619 | 3,503 | 3,965
13.5~145 578 T9(7.75) | 4,081 | 4,257 | 3,408 | 3,915
14.5~16 428 T10(11.62) | 4,459 | 2,628 | 3,739 | 3,608
16~18 266 T11(1549) | 3,679 | 2,431 | 3,196 | 3,102
18~20 150 T12(1549) | 3,483 | 1,629 | 2,912 | 2,675
20~22 72 T13(15.49) 0 0 0 0
22~24 14 T14(15.49)
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4-2-1 #+57 > ¥t A9~%F@ 43.3(F i BT EL.21m)1 R i &
R RIARE > P UTg TV R 3B 7&_%‘ iv %-4,18~-0.31m ; %7
B 43.2(77 if HIL EL.20m)~4 7 ¥k b 5 feie i (% 41)R &
WA AR > P ¥re TN 2% 5 0.11~3.01m -
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2R 3«?7 ,a;%;k,,. 4o A RENFER L B PEAL o

FA420 >3- L ERDEERRG L85 TG Rp AR - T
Hi:'m

2 & LI FE
Qs Qs Qso Q100 Q200
SEC 49 -2.72 -3.82 -3.64 -3.98 -4.06
SEC 48 -2.17 -2.98 -3.35 -3.07 -2.90

SEC 47 -1.04 -1.68 -1.81 -1.73 -1.54
SEC 46 -1.06 -1.53 -1.78 -1.84 -1.59
SEC 45 -1.14 -1.42 -1.66 -1.87 -1.57

SECMl | 085 | -1.05 | -1.14 | -135 | -1.06

R LA
SEC 44
bR LT -0.55 -0.70 -0.88 -0.93 -0.58
SEC43.3
(EL.21m) -0.31 -0.37 -0.46 -0.42 -0.31

(SEI?_Cfng) 0.22 0.19 0.11 0.18 0.32

ELiom) | 082 | 094 | 097 | 104 | 116

SEC 43 1.15 1.19 1.19 1.29 1.48

Elagm | 145 | 178 | 187 | 196 | 2.0

?Eff%ms 1.04 1.82 2.13 2.21 2.36

ELi6my | 178 | 246 | 268 | 284 | 2.86

SEC 41 1.29 251 2.98 2.73 3.01
SEC 38 0.10 -0.10 0.01 0.25 -0.04
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4422 >F-AEafrEte THnEgil- Fi
T IR EE a Qs g Qs FTr Qso . Q100 o Q200 "
e KT [ Jnak [ RE [ gnag | K [k PR [omik | K] g
“ro W (m) |[(m/s)] (m) |[(m/s)| (m) |[(m/s)| (m) |(m/s)| (m) |(m/s)
ey | 1893] 2011 1935 268 [ 19.05] 150 | 19.05[ 0.89 [ 19.20[ 0.80
’ | | | | | | | | | |
OK+000 | 20.25| 5.20 | 20.55| 4.12 | 21.00| 4.36 | 22.74| 4.69 | 2451| 3.74
>ty | 1623] 513 1656 1.97 | 1632 1.66 | 16.17| 1.89 | 16.32| 138
| | | | | | | | | |
OK+044 | 16.83| 5.68 | 19.74| 6.92 | 21.18| 8.10 | 22.92| 2.79 | 24.40| 5.27
»%sw | 1350] 256 | 13.62] 1.36 | 1350 104 | 1356 1.89 | 1353| 141
- | | | | | | | | | |
OK+077 | 16.32| 7.02 | 19.56| 4.65 | 20.91| 7.27 | 22.53| 5.70 | 24.27| 3.32
»oeye | 1194 456 | 1305 461 1284[ 509 [ 1299 310 | 1296] 336
0K+100 | | | | | | | | | |
15.69| 9.10 | 18.21| 8.73 | 19.26| 8.83 | 20.94| 7.25 | 22.71| 6.00
S F L 4.|16 5.|56 5.|22 4.|40 3.|56
Wyt 7.83 7.71 9.65 6.87 8.24
Hg i 4.|70 4.|43 4.|64 4.|55 3.|52
0K+300 6.08 9.76 9.14 9.95 9.77
i 6.|05 4.|95 4.|31 3.|23 3.|31
0K+400 7.65 8.30 7.69 8.36 9.19
o . [ 337 . [ 415 . | 345 . 345 . [ 348
okanos | B | B L) R LR L R
6.22 8.60 8.59 8.89 9.07
% 3 3.|17 5 4.%5 3 3.|15 . 3.|01 . 4.|53
OK+602 | ® | g31| ¥ | g00| F | 746| F | 8os| ¥ | 1084
o 413 4.49 452 3.63 447
oksg03 | | o) N vl A |
+ ! 729 | F 762 | F 835 | 878 | | 10.40
it 4.|78 4.?8 3.|68 4.|79 6.P1
OK+904 | . | 731 ., | 798| ., | 790| ., | 936| .. | 1170
i K 5.|27 K 4.|88 K 4.|14 K 4.|77 K 5.|30
1K+003 | 748 | 8.73 | 8.79 | , | 10.03| , | 10.34
P > [ 501 > [ 4.66 > [ 373 > 484 > [ 659
1K g0 | | | | |
5.77 7.92 8.52 8.85 11.00
i * 4.?6 * 6.|39 * 4.|62 * 5.|39 * 4.|57
1K+615 7.24 9.49 8.61 9.80 12.03
g ﬂ 4.|67 a 4.|71 ﬂ 2.|79 a 3.|32 a 5.|14
1K+706 | & £ & & £
7.61 6.91 8.11 8.01 10.95
P 4.04 4.02 3.39 3.64 473
B , | ‘ | . | ‘ | ‘ |
1K+816 | Rl | 590 | # | go3| Pl | 762| ® | g7z | | 1071
; :22%8 5.|:-30 7.|36 5.|11 5.?5 7.|59
+ 6.53 9.35 10.12 9.47 12.46
i 4.?3 4.|69 3.|33 4.|06 5.|52
2K+365 7.34 8.69 8.43 10.82 13.53
3.47 3.44 2.84 3.34 4.39
i v | | | | |
5.95 9.01 11.00 11.30 13.38
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#4423 FE-ojpi tdre TR RERL- Fi

T IR RE Qs Qs Qso Q100 Q200

R [ oeaR [ PR [k [ PRIk [ AR vaR [ AR ik

S =

“To W) (m) |[(m/s)] (m) [(m/s)| (m) [(m/s)| (m) (m/s) (m) (m/s)
2343 152 | 2199 237 | 21.85| 0.85 | 21.90| 0.77 | 22.11| 3.02

SEC 49 | | | | | | | | | |
25.59| 5.19 | 25.71| 5.06 | 25.74| 451 | 26.07| 454 | 25.98| 4.49
22.92| 2.80 | 21.99| 1.67 | 21.90| 2.03 | 21.87| 2.32 | 21.93| 1.99

SEC 47 | | | | | | | | | |
2452| 6.16 | 24.60| 4.71 | 24.81| 570 | 24.81| 529 | 25.38| 5.78
21.42| 3.38 | 20.46| 3.08 | 20.46| 3.17 | 20.46| 3.90 | 20.49| 3.62

SEC 45 | | | | | | | | | |

22.29| 4.75| 22.74| 530 | 2297| 6.32 | 23.13| 5.65 | 24.39| 5.02

SEC 44-1| 20.43| 229 | 2037 1./77| 20.35] 211 | 20.04} 3.11| 20.07 229

) | | | | | | | | | |
MELSHHIF| 2178| 3.65 | 22.35| 512 | 22.66| 5.98 | 22.95| 550 | 24.57| 5.66

SEC 44 | 20.22 1.737 20.16| 1.94 | 20.22| 2.33 | 20.07| 1.78 | 19.92| 2.39
BRI 2166| 3.91 | 22.17| 4.77 | 22.16| 554 | 23.07| 6.08 | 24.84| 6.05

SEC43.2 | 19.95| 097 | 19.77| 1.63 | 19.96| 2.08 | 19.89| 2.55| 19.89| 3.06

| | | | | | | | | |
(EL20m) | 21.21| 4.00 | 21.75| 592 | 22.12| 512 | 22.83| 553 | 24.81| 5.70

19.08| 1.86 | 18.84| 1.69 | 19.12| 1.69 | 18.87| 1.72 | 19.05| 2.05

SEC 43 | | | | | | | | | |
20.85| 3.38 | 21.36| 4.57 | 21.85| 515 | 22.74| 4.70 | 24.90| 5.00

R % | 1827] 101 | 17.88| 1.87 | 17.79| 2.04 | 17.76| 2.16 | 1854] 1.97
SEC42.1 | | | | | | | | | | |
(EL.18m)| 20.37| 368 | 21.12| 3.72 | 21.84| 4.04 | 22.86| 3.63 | 25.02| 4.05

R 19.59 1.|69 19.77 0.|47 19.71 1.?2 19i83 2.|80 19.53 2.|75

! | | | |
e 20.04| 3.00 | 20.88| 5.25 | 20.79| 6.16 | 22.17| 5.60 | 23.93| 5.71

JEfEFUE | 17.49| 0.80 | 17.73| 0.24 | 17.91| 0.34 | 18.12| 0.24 | 18.24| 0.47

SEC42.1 | | | | | | | | | |
(EL18m)| 2019| 211 | 2061| 223 | 20.64| 2.5 | 22.20| 310 | 2382| 245

SEC413 | 17.16| 0.76 | 16.86| 0.46 | 17.17| 0.46 | 16.98| 051 | 17.47| 1.30

| | | | | | | | | |
(EL.17m) | 20.07| 3.45| 20.79| 4.45| 21.65| 5.71 | 23.01| 4.46 | 25.08| 4.30

SEC41.2 | 17.19| 0.69 | 1695 0.72 | 16.95| 0.57 | 16.95| 0.62 | 1800 0.71

| | | | | | | | | |
(EL.16m)| 20.07| 3.16 | 20.85| 351 | 21.59| 354 | 22.92| 430 | 25.08| 3.78

e % 17.07| 122 | 16.74| 191 | 17.02| 1.07 | 16.89| 100 | 16.62| 0.87

| | | | | | | | | |
iR 20.04| 245 | 20.67| 503 | 21.57| 3.96 | 22.95| 2.73 | 24.94| 3.26

e % 16.83| 181 | 16.68| 168 | 16.92| 2.26 | 16.77| 1.10 | 16.53| 1.71

| | | | | | | | | |
HFIEE | 1815| 296 | 18.27| 295 | 1842 283 | 1851| 250 | 18.60| 2.75

e 15.69| 241 | 1590| 3.29 | 15.72| 1.80 | 15.72| 1.83 | 15.74| 3.11

By | | | | | | | | | |
~~% | 16.50| 6.55 | 16.59| 5.85 | 16.71| 575 | 16.71| 654 | 16.86| 7.76

T 16.05| 244 | 1581| 244 | 15.84| 2.78 | 16.05| 2.66 | 1596| 2.53

| | | | | | | | | |
HHRIEE | 16.41| 437 | 16.26| 437 | 1693 466 | 16.80| 4.99 | 16.80| 6.48

jﬁ,aﬁc 16.23| 2.10 | 16.20| 2.65 | 16.07| 2.33 | 15.84| 1.60 | 15.35| 1.40

e | e | | | | | | | | |
i 16.83| 539 | 16.80| 566 | 16.68| 5.47 | 16.74| 6.68 | 17.19| 4.31
1434 110 | 1404| 203 | 1427 171 1425 0.70 | 1410| 1.36
SEC 38 | | | | | | | | | |
14.67| 2.01 | 14.64| 260 | 15.36| 3.17 | 14.91| 2.48 | 15.26| 3.03
1410 1.02 | 13.95| 141 | 13.99| 224 | 1404| 065 | 1413] 1.14
SEC 37 | | | | | | |

| | |
1443| 172 | 14.31| 270 | 14.59| 3.27 | 1458| 2.85 | 14.95| 2.50
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REE

o N 81 183 93 404 | 103 | 500 | 114 | 609 | 169 | 691
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. gzoo . 9292 =T R ‘E_w | wEs E R _
a‘m‘f_’ﬁﬁ JE s £ FE B (miin) RBRR R ARGk 3
AR | (cms) cms cms cms cms
0~3 32 | T1(15.49)| 32.45 33
3~5 94 | T2(15.49)| 93.61 01 0 0
5~7 173 | T3(15.49)| 87.64 72 85.85 102
7~9 301 | T4(15.49)| 68.00 82 232.81 219
9~10.5 477 | T5(11.62)| 72.91 90 403.89 387
10.5~11.5 652 | T6(7.75)| 128.87 | 109 | 522.68 | 543
11.5~12.5 860 | T7(7.75)| 170.00 | 169 | 690.00 | 691
12.5~13.5 709 | T8(7.75)| 14022 | 125 | 568.74 | 585
13.5~14.5 578 | T9(7.75) | 114.05 99 | 463.86 | 480
14.5~16 428 |T10(11.62) 65.47 85 362.66 343
16~18 266 |T11(15.49) 60.10 72 205.76 195
18~20 150 |T12(15.49) 75.66 65 74.12 86
20~22 72 |T13(15.49) 72.39 74
22724 14 T14(15.49)| 13.73 17 0 0
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%2426 > F oSk B AMREE T RAR M- T4
H > ppm
Quort 1% %?{203% ;il;;fe %;‘i‘fg)i e ) R ER f%jl _ kiR
AAFEEOD | ome) | mn | (PM) | 0717 | 0722 E—;;; . | 0801
0~3 32 | T101549)] 841 0 0 0 0
3~5 94 | T2(1549)| 1,813 | 0 0 0 0
5~7 173 | T3(1549)| 2,051 | 2,016 | 2,788 | 2,402 | 0
7~9 301 | T4(1549)| 2,168 | 2,851 | 3,457 | 3,154 | 55
9~10.5 477 | T5(11.62)| 2,228 | 4,000 | 3,804 | 3,902 | 50
10.5~115 652 | T6(7.75)| 2,255 | 4,161 | 4,059 | 4,110 | 94
115~125 860 | T7(7.75)| 2,273 | 4,221 | 4,372 | 4,297 | 150
12.5~135 709 | T8(7.75) | 2,261 | 4,544 | 4,165 | 4,355 | 142
135~145 | 578 | T9(7.75)| 2,245 | 4,670 | 4,262 | 4,466 | 150
145~16 428 |T10(11.62) 2,216 | 5,116 | 5,069 | 5,093 | 306
16~18 266 |T11(1549) 2,147 | 4,120 | 4,238 | 4,179 | 276
18~20 150 |T12(1549) 2,007 | 3,709 | 2,402 | 3,056 | 126
20~22 72 |TI3(1549) 1662 | 0 0 0
22~24 14 |T14(1549) —
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